Name Country

Part VI
Potato Appeal

9" World Puzzle Championship
October, 2000

1  Mr. Potato Head 100 points
2 Balloon Balance 50 points
3 Dungeon Escape 50 points
4  Die Cast 50 points
5  Work Product 75 points
6  Paint by Numbers 75 points
7  Hawaiian Holiday 125 points
8 Playground 75 points
9  Placement Test 150 points
10  Olympic Spirit 150 points
11 Character Study 75 points
12  Block Party 125 points
13 Hidden Puzzle 50 points

Solving all the puzzles correctly earns the team 250 bonus points.

Puzzles and equipment provided courtesy of Hasbro/WotC




1 - Mr. Potato Head

100 points

After solving each of the other puzzles, keep track of the key numbers here. Each of the

problems will yield 2 digits, except for Block Party, which will yield 3 digits.
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Hidden Puzzle

Use the 25 digits to select the parts needed to build a complete and correct Mr. Potato Head
model (use just one of each potato part listed below). The merged set of digits on all 9 tags
used is the same as the merged set of key digits above.

Hat 154, 267, 548
Eyes 135, 349, 386
Nose 35, 88, 187
Mustache 159, 986, 977
Mouth 27, 248, 446
Feet 98, 167, 355
Ears 36, 112, 477
Arms 57, 334, 988
Glasses 266, 137




2 - Balloon Balance 50 points

Add the weights and balloons to the diagram so that the entire mechanism is in equilibrium. As
with normal balance puzzles, the total torque at each fulcrum must be zero.

Note: the numbers and arrows below the diagram are not part of the problem.
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Key values: Which arrows are pointing to the -2 balloon and the +2 weight?




8 - Dungeon Escape 50 points

The nine cards represent the nine floors of a dungeon. They've gotten out of order, so you
have to stack them up again. When they're stacked correctly, they will contain a path from the
Start (S) on the bottom floor to the Finish (F) on the top floor that goes through every up-and-
down stairway. As you travel the path, every time you hit an up stairway, you must go to the
square with the same coordinates on the floor immediately above the one you're on. Likewise,
when you hit a down stairway, you must go to the square with the same coordinates on the
floor immediately below the one you're on. You can't cross the heavy black walls or retrace
any part of your path.

Your answer is the correctly stacked deck of cards. Use the rubber band to keep it together.
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Key values: After you've stacked all the cards, the path from Start to Finish will pass through
two numbers. What are they?




4 - Die Cast 50 points

The 5 dice shown on the left make up a complete set in which each face is opposite each
other face exactly once. The 5 dice shown on the right are the same set, but they have been
rotated and rearranged. Match each die on the left with its counterpart on the right.
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Key values: What two numbers correspond with the matches for cubes B and C?

1) B=F 5) C=J
2) B=G 6) C=I
3) B=H 7) C=H
4) B=I 8) C=G

5) B=J 9) C=F




5 - Work Product 75 points

Starting with 5 numbers (A, B, C, D, and E), each of the 10 products AxB, AxC, AxD, AXE, BxC,
BxD, BXE, CxD, CxE, and DxE was computed and placed into the grid below. Each product is
two digits long, and is oriented horizontally, vertically, or diagonally, in any direction, and does
not overlap any of the other products.

Circle all 10 products.
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Key values: Which two digits are paired with the highlighted numbers?




6 - Paint by Numbers 75 points
See Part I, problem 16 for Paint by Numbers instructions.
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Key values: What two digits are indicated in the resulting diagram?




7 - Hawailan Holiday 125 points

The 19 Hawaiian locations listed below are all located in the grid. Each location appears in a
straight line, oriented horizontally, vertically, or diagonally. To make things more interesting,
we’'ve replaced the letters in the grid with colors. Each color has replaced exactly four different
letters. Reconstruct the grid and locate all of the locations.

Al EA KAPAA LI HUE PUNALUU
HAI KU KEAAU MAUNAW LI PUUVAI
HANAVAUL U KEANAE M LCLI | WAHI AVA
KAAAVWA KUALAPUU PAI A WAl MANALO
KAHUKU LANAI PUKALANI

Key values: What are the two coordinates of the one unused square?




3 - Playground 75 points

The two puzzle grids below are playgrounds that each contain 16 vehicles, with exactly 2
vehicles per column. Each grid contains 9 unicycles (1 wheel), 6 bicycles (2 wheels), and 1
tricycle (3 wheels). These vehicles occupy single squares, and no square contains more than
one vehicle. The numbers in the puzzle grids indicate the total number of wheels in all squares
adjacent to that number, including diagonally. The numbered squares do not contain vehicles.

Locate the position of the tricycle in each of the playground grids.
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Key values: What two numbers in the grid below correspond to the locations of the two
tricycles?
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9O - Placement Test

150 points

Place the ten 10-digit numbers into the grid reading across (left to right) or down (top to
bottom). At least one number must be oriented vertically, and at least one number must be

oriented horizontally. Note: both shaded squares will contain digits.

1017655021
4078955291
5420948140
5406425406
5780295423
6069823162
7635041263
8935437721
9838054462
9939982531

Key values: What two digits appear in the shaded squares?




10 - Olympic Spirit 150 points

Listed below are the last names of 40 Olympic medalists in 40 different events from 40
different countries. Place 39 of them into the grid, across or down, following the normal
crisscross rules ... EXCEPT: gray squares must be filled by 2 letters; white squares may be
filled by either 1 or 2 letters.

Key values: What two digits correspond to the unused name?
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11 AJUNWA 35HRI STOVA 58 NEHVER 74 THUGNANE
13 ANGERER 381 VOSEV 59 NEUNER 75Tl SDALL
16 BALAS 39 KEI NO 63N EM NEN 84 TOVBA
19 CANTO 42 KRAVETS 65 QUARRI E 86 TRENTI N
22 CRAWFORD 43 LAUVANN 66 Rl Bl ERO 87 TSURUM
24 FI RSOV 47 LEMM NG 68 SHOOUA 89 UBARTAS
25 GEREVI CH 48 VAl NAKY 69SI LVA 91 ULVANG
27 GESTRI NG 51 MARTI KAN 71 Sl MVEN 92VAN | NNI S
31HEN E 53 M NGXI A T2TAIT 96 WOOSNAM
32 HERRERA 54 NASTULA 73THI ELE 97 ZMELI K




11 - Character Study

75 points

Arrange the 22 figurines in a 5 inch x 5 inch meaningful arrangement. What two digits appear

in the completed image?

I

il ==l
lllfl\ll =
(il

Wl
ilh

"=
= =

= il
1

="

Key values: What two digits are pictured in the completed image?




12 - Block Party

125 points

Arrange the 9 cubes (front and back images are shown below) in a 3x3x1 block so that the

following conditions are satisfied:

The letters A-F in the diagrams below are replaced by different digits from 1 to 9. The
same letter is always replaced by the same digit.

When the block is placed on top of the diagram on the left, each cube has a black square
facing up in the corresponding orientation, and each of the 6 equations (3 reading across
and 3 reading down, and each including one of the letters around the edge) is true.

When the complete arrangement of cubes is turned upside-down and placed on top of the
diagram on the right, the same is true of the cube orientations and the 6 equations reading

across and down.

All calculations are performed in order from left to right, or top to bottom, and each individual
calculation results in a positive integer value (no negative numbers, zeros, or fractions ever

need to be used).

Write the six equations in each of the two diagrams.
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Key values: What 3 digits are not among the values A-F?




13 - Hidden Puzzle 50 points

Don't look here! Somewhere else in this booklet is a hidden puzzle. Write the two 1-digit
answers here.

Key values: What are the 2 1-digit answers?




